



[image: ]









[image: ]






Hachette UK’s policy is to use papers that are natural, renewable and recyclable products and made from wood grown in sustainable forests. The logging and manufacturing processes are expected to conform to the environmental regulations of the country of origin.


Orders: please contact Bookpoint Ltd, 130 Milton Park, Abingdon, Oxon OX14 4SE. Telephone: +44 (0)1235 827720. Fax: +44 (0)1235 400454. Email education@bookpoint.co.uk Lines are open from 9 a.m. to 5 p.m., Monday to Saturday, with a 24-hour message answering service. You can also order through our website: www.hoddereducation.co.uk


ISBN: 978 1 4718 5959 5
eISBN: 978 1 4718 5960 1


© Carl Atherton, Symond Burrows, Ross Howitt, Sue Young 2016


First published in 2016 by


Hodder Education,


An Hachette UK Company


Carmelite House


50 Victoria Embankment


London EC4Y 0DZ


www.hoddereducation.co.uk






	Impression number

	10 9 8 7 6 5 4 3 2 1






	Year

	2020 2019 2018 2017 2016







All rights reserved. Apart from any use permitted under UK copyright law, no part of this publication may be reproduced or transmitted in any form or by any means, electronic or mechanical, including photocopying and recording, or held within any information storage and retrieval system, without permission in writing from the publisher or under licence from the Copyright Licensing Agency Limited. Further details of such licences (for reprographic reproduction) may be obtained from the Copyright Licensing Agency Limited, Saffron House, 6–10 Kirby Street, London EC1N 8TS.


Cover photo © Pali Rao/Getty Images


Illustrations by Integra Software Services Pvt. Ltd., Pondicherry, India


Typeset in 11/13pt ITC Berkeley Oldstyle Std Book by Integra Software Services Pvt. Ltd., Pondicherry, India


Printed in Slovenia


A catalogue record for this title is available from the British Library.





Introduction



This book has been written and designed for the new AQA Physical Education specifications introduced for first teaching in September 2016.


AQA A-level Physical Education 2 covers the content required for year 2 of AQA A-level Physical Education (7582) for first examination in 2018.


A separate book – AQA A-level Physical Education 1 – covers the content for year 1 and AQA AS Physical Education (7581) for first examination in 2017.


To view the full specifications, and examples of assessment material, for AQA AS or AQA A-level Physical Education, please visit AQA’s website: www.aqa.org.uk. The content of this book, as well as AQA A-level Physical Education 1, covers the topics in the new specification.


How to use this book


Each chapter has a range of features that have been designed to present the course content in a clear and accessible way, to give you confidence and to support you in your revision and assessment preparation.
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Chapter objectives





•  Each chapter starts with a clear list of what is to be studied.
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CHECK YOUR UNDERSTANDING


These questions have been designed speciﬁcally to help check that you have understood different topics.
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STUDY HINTS


These are suggestions to help clarify what you should aim to learn.
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ACTIVITIES


Activities appear throughout the book and have been designed to help you develop your understanding of various topics.
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KEY TERMS


Key terms, in bold in the text, are defined.
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PRACTICE QUESTIONS


These are questions to help you get used to the type of questions you may encounter in the exam.
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SUMMARY





•  These boxes contain summaries of what you have learned in each section.
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Chapter 1.1 Energy systems
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Chapter objectives


After reading this chapter you should be able to:





•  Understand the energy continuum to explain which energy system is the main energy provider according to the intensity and duration of exercise.



•  Identify the difference in ATP production depending on the fibre type used.



•  Identify that during short duration/high intensity exercise the anaerobic glycolytic and ATP–PC systems are used.



•  Understand the effects of using the anaerobic glycolytic energy system through an explanation of lactate accumulation, lactate threshold and OBLA.



•  Explain oxygen consumption during exercise and recovery through oxygen deficit and EPOC.



•  Identify VO2 max and explain the factors that affect it and how it is measured.



•  Explain the measurements of energy expenditure to include indirect calorimetry, lactate sampling, and respiratory exchange ratio.



•  Understand the impact of altitude training, high intensity interval training, plyometrics and speed agility quickness on energy systems.
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Energy transfer in the body


We need a constant supply of energy so that we can perform everyday tasks such as tissue repair and body growth. The more exercise we do, the more energy is required. When we exercise, the body converts energy from food into energy for muscle contractions in order to produce movements such as running, jumping, catching and throwing. This chapter looks at how this energy is provided in a wide range of physical activities from the 100 metres where energy is required very quickly, to the marathon where energy needs to be provided for a long period of time. The intensity and duration of an activity play an important role in the way in which energy is provided.


In the body the energy we use for muscle contractions comes from adenosine triphosphate (ATP). It is the only usable form of chemical energy in the body. The energy we derive from the foods that we eat, such as carbohydrates, is broken down to release energy that is used to form ATP. ATP consists of one molecule of adenosine and three (tri) phosphates (Figure 1).


The energy that is stored in ATP is released by breaking down the bonds that hold this compound together (Figure 2).


Enzymes are used to break down compounds and in this instance ATPase is the enzyme used to break down ATP leaving adenosine di-phosphate (ADP) and an inorganic phosphate (Pi) (Figure 3).
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Figure 1 An ATP molecule
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Figure 2 Energy is released when the compound is broken down
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Figure 3 ATP-ase breaks down ATP to produce ADP and Pi
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KEY TERM


Adenosine triphosphate (ATP): The only usable form of energy in the body.
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The body has to constantly rebuild ATP by converting the ADP and Pi back into ATP. We can re-synthesise ATP from three different types of chemical reactions in the muscle cells. These chemical reactions are fuelled by either food or a chemical called phosphocreatine which is found in the muscles. The conversion of these fuels into energy takes place through one of three energy systems:





1  The aerobic system



2  The ATP–PC system



3  The anaerobic glycolytic system





Each energy system is suited to a particular type of exercise depending on its intensity and duration, and whether oxygen is present. The higher the intensity of the activity, the more the individual will rely on anaerobic energy production from either the ATP–PC or the anaerobic glycolytic systems. The lower the intensity and the longer the duration of the activity, the more the individual will use the aerobic system.
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STUDY HINT


Intensity and duration of exercise play a key role in deciding which system is used to provide the energy so apply this knowledge and choose the correct system!
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The aerobic system


When exercise intensity is low and oxygen supply is high, e.g. jogging, the aerobic system is the preferred energy pathway. This system breaks down glucose into carbon dioxide and water which, in the presence of oxygen, is much more efficient. The complete oxidation of glucose can produce up to 38 molecules of ATP. Fats in the form of fatty acids and proteins in the form of amino acids can also be broken down. The products of fat and protein metabolism are reduced to the molecule acetyl coenzyme A that enters the Krebs cycle (stage two of the aerobic system).


How it works to provide energy


The aerobic system has three stages:





1  Glycolysis. This first stage is anaerobic so it takes place in the sarcoplasm of the muscle cell. Glycolysis is the breakdown of glucose to pyruvic acid and is discussed in more detail later in this chapter. For every molecule of glucose undergoing glycolysis, a net of two molecules of ATP is formed.





Before the pyruvic acid produced in glycolysis can enter the next stage (Krebs cycle) it is oxidised into two acetyl groups and is then carried into Krebs cycle by coenzyme A.





2  Krebs cycle. The two acetyl groups diffuse into the matrix of the mitochondria (see Figure 5) and a complex cycle of reactions occurs in a process known as the Krebs cycle. Here the acetyl groups combine with oxaloacetic acid, forming citric acid. Hydrogen is removed from the citric acid and the rearranged form of citric acid undergoes ‘oxidative carboxylation’ which simply means that carbon and hydrogen are given off. The carbon forms carbon dioxide which is transported to the lungs and breathed out and the hydrogen is taken to the electron transport chain. The reactions that occur result in the production of two molecules of ATP.
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KEY TERMS


Glycolysis: A process in which glucose is converted to pyruvate to produce energy.


Sarcoplasm: The fluid that surrounds the nucleus of a muscle fibre and is the site where anaerobic respiration takes place.


Krebs cycle: A series of cyclical chemical reactions that take place using oxygen in the matrix of the mitochondrion.
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Figure 4 A cross-section through a mitochondrion
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Figure 5 The Krebs cycle
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3  Electron transport chain. Hydrogen is carried to the electron transport chain by hydrogen carriers. This occurs in the cristae of the mitochondria and the hydrogen splits into hydrogen ions and electrons and they are charged with potential energy. The hydrogen ions are oxidised to form water while the hydrogen electrons provide the energy to re-synthesise ATP. Throughout this process 34 ATP are formed.
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KEY TERM


Electron transport chain: Involves a series of chemical reactions in the cristae of the mitochondria where hydrogen is oxidised to water and 34 ATP are produced.
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Memory tools


Remember GKE (Get Kinetic Energy) for the three stages of the aerobic system: G stands for glycolysis, K stands for Krebs cycle and E stands for electron transport chain.


It is important to remember that so far we have only discussed glucose with regards to the aerobic system, but fats in the form of fatty acids and proteins in the form of amino acids are two other energy sources that can be broken down under aerobic conditions to provide energy for us to exercise. (Protein metabolism is not in the specification as its breakdown is very complex and it is not a significant source during exercise but it is important to realise that it can produce some energy.) These can both enter the Krebs cycle and eventually the electron transport chain to produce ATP.


Beta oxidation


Stored fat is broken down into glycerol and free fatty acids for transportation by the blood. These fatty acids then undergo a process called beta oxidation whereby they are converted into acetyl coenzyme A, which is the entry molecule for the Krebs cycle. From this point on, fat metabolism follows the same path as glycogen metabolism. More ATP can be made from one molecule of fatty acids than one molecule of glucose, which is why in long duration, low-intensity exercise, fatty acids will be the predominant energy source but this does depend on the fitness of the performer.
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STUDY HINT


Make sure you have a basic overview of each energy system and can identify when they are used.
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	Advantages of the aerobic system

	Disadvantages of the aerobic system






	




•  More ATP can be produced: 36 ATP.



•  There are no fatiguing by-products (carbon dioxide and water).



•  Lots of glycogen and triglyceride stores so exercise can last for a long time.





	




•  This is a complicated system so cannot be used straight away. It takes a while for enough oxygen to become available to meet the demands of the activity and ensure glycogen and fatty acids are completely broken down.



•  Fatty acid transportation to muscles is low and also requires 15% more oxygen to be broken down than glycogen.
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CHECK YOUR UNDERSTANDING


The aerobic system has three stages, one of which is the ‘Krebs cycle’. Describe how energy is produced during the ‘Krebs cycle’.
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Figure 6 Summary of the aerobic system
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ACTIVITY


Test your knowledge and try to draw your own diagram, starting with glucose in the top left-hand corner and ending with the electron transport chain in the bottom right-hand corner. Then add the stages to summarise aerobic energy metabolism.
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The ATP–PC system


This is an energy system using phosphocreatine (PC) as its fuel. PC is an energy-rich phosphate compound found in the sarcoplasm of the muscles and can be broken down quickly and easily to release energy to re-synthesise ATP. Its rapid availability is important for a single maximal movement such as the long jump take-off or shot putt. However, the disadvantage of this system is that the stores are limited, as there is only enough PC to last for 5–8 seconds and it can only be replenished during low-intensity work when oxygen is available. Think of Usain Bolt running the 100 m. He does not run the whole 100 m with PC as his only energy source. He slows down in the last 20 m as his stores of PC run out and he has to use a slower method of producing energy.
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KEY TERM


Phosphocreatine (PC): An energy-rich phosphate compound found in the sarcoplasm of the muscles.
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ACTIVITY


Can you think of four different sporting examples when the ATP–PC system would be the predominant method of re-synthesising ATP?
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How it works to provide energy


The ATP–PC system is an anaerobic process and re-synthesises ATP when the enzyme creatine kinase detects high levels of ADP. It breaks down the phosphocreatine in the muscles to phosphate and creatine, releasing energy:


Phosphocreatine (PC) → phosphate (Pi) + creatine (C) + energy
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KEY TERMS


Anaerobic: A reaction that can occur without the presence of oxygen.


Coupled reaction: When energy required by one process is supplied by another process.
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This energy is then used to convert ADP to ATP in a coupled reaction:


Energy → + Pi + ADP → ATP


For every molecule of PC broken down, there is enough energy released to create one molecule of ATP. This means the system is not very efficient but it does have the advantage of not producing fatiguing by-products and its use is important in delaying the onset of the anaerobic glycolytic system (see later). However, the fact it runs out quickly means that if there is a need to work at a high level of intensity for longer, then we need to find another source of energy to re-synthesise ATP. We can do this using carbohydrates in the anaerobic glycolytic system.
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STUDY HINT


The ATP–PC system is the predominant energy system for high-intensity, short-duration activity lasting between 5 and 8 seconds. For high-intensity activity lasting less than 3 seconds, energy will be provided from just the breakdown of ATP.


[image: ]









	Advantages of the ATP–PC system

	Disadvantages of the ATP–PC system






	




•  ATP can be re-synthesised rapidly using the ATP–PC system.



•  Phosphocreatine stores can be re-synthesised quickly – (30 s = 50% replenishment and 3 mins = 100%).



•  There are no fatiguing by-products.



•  It is possible to extend the time the ATP–PC system can be utilised through use of creatine supplementation.





	




•  There is only a limited supply of phosphocreatine in the muscle cell, i.e. it can only last for 10 seconds.



•  Only one mole of ATP can be re-synthesised for every mole of PC.



•  PC re-synthesis can only take place in the presence of oxygen (i.e. when the intensity of the exercise is reduced).
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CHECK YOUR UNDERSTANDING


Name the main energy system being used in the 100 m and explain how this system provides energy for the working muscles.


(Try to decide which key points you need to include when explaining how this energy system works.)
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The short-term lactate anaerobic system/anaerobic glycolytic system


The ATP–PC system is an immediate anaerobic system but as already discussed can only supply energy for a short amount of time. The short-term lactate anaerobic system, also called the anaerobic glycolytic system, provides energy for high-intensity activity for longer than the ATP–PC system. However, how long this system last depends on the fitness of the individual and how high the exercise intensity is. Working flat out to exhaustion will mean the system will last a much shorter time (hence short-term). This is because the demand for energy is extremely high. In practice an elite athlete who has just run the 400 m in under 45 seconds will not be able to run it again immediately at the same pace! However reduce the intensity a little and the system can last up to 2–3 minutes because the demand for energy is slightly less. The anaerobic glycolytic system re-synthesises ATP from the breakdown of the fuel glucose. This is supplied from the digestion of carbohydrates and is stored in the muscles and liver as glycogen, where it is readily available.
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KEY TERM


Short-term lactate anaerobic system: produces high powered energy for high intensity effort in events such as the 400 m.
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ACTIVITY


Can you think of three different sporting examples when the anaerobic glycolytic system would be the predominant method of re-synthesising ATP?


[image: ]





How it works to provide energy


When the PC stores are low, the enzyme glycogen phosphorylase is activated to break down the glycogen into glucose, which is then further broken down to pyruvic acid by the enzyme phosphofructokinase. This process is called anaerobic glycolysis and takes place in the sarcoplasm of the muscle cell where oxygen is not available. Since this is an anaerobic process, the pyruvic acid is then further broken down into lactic acid by the enzyme lactate dehydrogenase (LDH).


During anaerobic glycolysis, energy is released to allow ATP re-synthesis. The net result is two molecules of ATP are produced for one molecule of glucose broken down. (There are actually four moles of ATP produced but two are used to provide energy for glycolysis itself.)
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Figure 7 The lactate anaerobic system
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STUDY HINT


The key points about glycolysis are:





•  Breakdown of glucose to pyruvic acid.



•  Produces two molecules of ATP.



•  During intense exercise, pyruvic acid converted into lactic acid.
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The anaerobic glycolytic system provides energy for high-intensity activities lasting up to 3 minutes but can peak at 45 seconds, for example, 400 m.
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STUDY HINT


The anaerobic glycolytic system is the predominant energy system for high-intensity activity lasting up to 3 minutes.
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	Advantages of the anaerobic glycolytic system

	Disadvantages of the anaerobic glycolytic system






	




•  ATP can be re-synthesised quite quickly due to very few chemical reactions and lasts for longer than the ATP–PC system.



•  In the presence of oxygen, lactic acid can be converted back into liver glycogen or used as a fuel through oxidation into carbon dioxide and water.



•  It can be used for a sprint finish (i.e. to produce an extra burst of energy).





	




•  Lactic acid as the by-product! The accumulation of acid in the body de-natures enzymes and prevents them increasing the rate at which chemical reactions take place.



•  Only a small amount of energy can be released from glycogen under anaerobic conditions (5% as opposed to 95% under aerobic conditions).
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CHECK YOUR UNDERSTANDING


Name the main energy system being used in the 400 m and explain how this system provides energy for the working muscles.
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The energy continuum of physical activity


When we start any exercise, the demand for energy will rise rapidly. The energy continuum is a term used to describe which energy system is used for different types of physical activity. It refers to the contribution that the different energy systems make to the production of energy, depending on the intensity and duration of exercise. The three energy systems do not work independently of one another. They all contribute during all types of activities, but one of them will be the predominant energy provider. The intensity and duration of the activity are the factors that decide which will be the main energy system in use. For some activities it is easy to identify which is the predominant energy system. The 100 m, for example, is a highly explosive, short duration activity which takes an elite performer approximately 10 seconds to complete so the ATP–PC system will be the predominant energy system. In contrast, the marathon is a long duration, lower intensity activity so the aerobic system will be the predominant energy system.
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KEY TERM


Energy continuum: A term which describes the type of respiration used by physical activities. Whether it is aerobic or anaerobic respiration depends on the intensity and duration of the exercise.
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ACTIVITY


Into which box would you place the following athletics events on this continuum?





•  100 m



•  400 m



•  1500 m



•  Marathon
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However, in a game where the level of intensity is constantly changing, there will be a mix of all three energy systems as the main energy provider.
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ACTIVITY


Copy and complete the table below by giving examples from a game of your choice to show when each of the three energy systems will be used.
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The energy continuum is often explained in terms of thresholds. The ATP–PC/anaerobic glycolytic threshold is the point at which the ATP–PC energy system is exhausted and the anaerobic glycolytic system takes over. This is shown in Figure 8 at 10 seconds. The anaerobic glycolytic/aerobic threshold shown in Figure 8 at 3 minutes is the point at which the anaerobic glycolytic system is exhausted and the aerobic system takes over.
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CHECK YOUR UNDERSTANDING


Analyse the relative contributions of different energy systems in a game of basketball compared to a game of football.
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Figure 8 The energy continuum related to exercise duration









	
Duration of performance


	Energy supplied by

	Example






	Less than 10 seconds

	ATP–PC

	100 m, long jump






	8–90 seconds

	ATP–PC and anaerobic glycolytic

	200 m, 400 m, gymnastic floor routine






	90 seconds to 3 minutes

	Anaerobic glycolytic and aerobic

	1500 m, a round of boxing






	3+ minutes

	Aerobic

	Marathon, cross-country skiing







Differences in ATP generation between fast and slow twitch muscle fibres


Remember from Book 1 that slow twitch fibres are used for low to medium intensity activity so therefore use aerobic respiration as their main method of receiving fuel. Fast twitch fibres are recruited for high intensity activities such as sprinting so anaerobic respiration is their main energy pathway. Anaerobic respiration is much quicker than aerobic respiration but it is an inefficient process, producing only two ATP per glucose molecule, and muscles fatigue much quicker due to the build-up of lactic acid.


The table below summarises the differences in ATP generation between fast and slow twitch fibres:






	Slow twitch (Type 1)

	Fast twitch (Type 2x)






	




•  The main pathway for ATP production is in the aerobic system.



•  It produces the maximum amount of ATP available from each glucose molecule (up to 36 ATP).



•  Production is slow but these fibres are more endurance based so less likely to fatigue.





	




•  The main pathway for ATP production is via the lactate anaerobic energy system (during glycolysis).



•  ATP production in the absence of oxygen is not efficient – only two ATP produced per glucose molecule.



•  Production of ATP this way is fast but cannot last for long as these fibres have least resistance to muscle fatigue.
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STUDY HINT


Slow twitch fibres are aerobic and fast twitch fibres are anaerobic.
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Energy transfer during long duration/lower intensity exercise


As already mentioned on page 2, exercising for long periods of time at low intensity uses the aerobic system as the preferred method for producing energy. This is because at low intensity exercise, the demand for oxygen can easily be met and glucose can be broken down much more efficiently when oxygen is present. Fats are used for energy at low intensity, but as intensity increases, their usage becomes limited because they require more oxygen than glucose in their breakdown. As soon as oxygen supplies become limited, fat use for energy drops.


Oxygen consumption during exercise (maximal and submaximal oxygen deficit)


When we exercise, the body uses oxygen to produce energy (re-synthesise ATP). Oxygen consumption is the amount of oxygen we use to produce ATP and is usually referred to as VO2. At rest we consume oxygen at a rate of approximately 0.3 to 0.4 litres per minute. At the start of exercise we use more oxygen to provide more ATP so our oxygen consumption increases. As the intensity of the exercise increases, so does the amount of oxygen consumed until a performer reaches maximal oxygen consumption which can be 3–6 litres per minute. This is our VO2 max which is the maximum volume of oxygen that can be taken up and used by the muscles per minute.
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KEY TERMS


Oxygen consumption: The amount of oxygen we use to produce ATP.


VO2 max: The maximum volume of oxygen that can be taken up by the muscles per minute.


Sub-maximal oxygen deficit: When there is not enough oxygen available at the start of exercise to provide all the energy (ATP) aerobically.
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When we start to exercise, insufficient oxygen is distributed to the tissues for all the energy to be provided aerobically. This is because it takes time for the circulatory system to respond to the increase in demand for oxygen and it also takes time for the mitochondria to adjust to the rate of aerobic respiration needed. As a result, energy is provided anaerobically to satisfy the increase in demand for energy until the circulatory system and mitochondria can cope! This is referred to as sub-maximal oxygen deficit.


Maximum oxygen deficit is usually referred to as maximal accumulated oxygen deficit or MAOD. It gives an indication for anaerobic capacity. Figure 10 shows the difference between maximal and sub-maximal oxygen deficit. As you can see from the graph, oxygen deficit is bigger during maximal exercise as the performer is short of more oxygen at the start as they have to work more anaerobically. Hence the idea of maximal (accumulated) oxygen deficit.
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STUDY HINT


You should aim to be able to label oxygen deficit on a graph.
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Figure 9 The difference between maximal and sub-maximal oxygen deficit





Oxygen consumption during recovery (excess post-exercise oxygen consumption EPOC)


Recovery involves returning the body to its pre-exercise state. When a performer finishes exercise, oxygen consumption still remains quite high in comparison with oxygen consumption at rest. This is because extra oxygen needs to be taken in and used to try to help the performer recover. This breathlessness after exercise is often referred to as excess post-exercise oxygen consumption (EPOC).
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KEY TERM


EPOC: The amount of oxygen consumed during recovery above that which would have been consumed at rest during the same time.
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There are two main components to EPOC.
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STUDY HINT


Questions have often asked why a performer is breathless after exercise. Remember this breathlessness is EPOC!
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The fast component


The fast replenishment stage uses the extra oxygen that is taken in during recovery to restore ATP and phosphocreatine and to re-saturate myoglobin with oxygen. Complete restoration of phosphocreatine takes up to 3 minutes but 50 per cent of stores can be replenished after only 30 seconds, during which time approximately 3 litres of oxygen are consumed.
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KEY TERM


Fast component: The restoration of ATP and phosphocreatine stores and the re-saturation of myoglobin with oxygen.
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CHECK YOUR UNDERSTANDING


Use the graph below to work out how much PC has been restored at 1 minute.
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The graph above shows the relationship between recovery time and the replenishment of muscle phosphagens after exercise.
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ACTIVITY


This knowledge of recovery times for the replenishment of ATP and phosphocreatine is useful for a coach or performer who will want to prevent the use of the lactic acid system with its fatiguing by-product. Can you think of an example in a team game where it is possible to delay play for up to a minute to allow for significant restoration of PC stores?
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Myoglobin has a high affinity for oxygen. It stores oxygen in the sarcoplasm that has diffused from the haemoglobin in the blood. After exercise, oxygen stores in the myoglobin are limited. The surplus of oxygen supplied through EPOC helps replenish these stores, taking up to 2 minutes and using approximately 0.5 litres of oxygen.


The slow component


The oxygen consumed during the slow replenishment stage (sometimes referred to as the lactacid component) has several functions:


Removal of lactic acid


Lactic acid accumulates during exercise, and during recovery it needs to be removed. Full recovery may take up to an hour or longer, depending on the intensity and duration of the exercise. Lactic acid can be removed in the following ways:





•  When oxygen is present, lactic acid can be converted back into pyruvate and oxidised into carbon dioxide and water in the inactive muscles and organs. This can then be used by the muscles as an energy source.



•  Transported in the blood to the liver where it is converted to blood glucose and glycogen (the Cori cycle).



•  Converted into protein.



•  Removed in sweat and urine.
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KEY TERM


The Cori cycle: The process where lactic acid is transported in the blood to the liver where it is converted to blood glucose and glycogen.
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The majority of lactic acid can be oxidised in mitochondria so performing a cool-down can accelerate its removal. This is because exercise keeps the metabolic rate of muscles high and keeps capillaries dilated, which means oxygen can be flushed through, removing the accumulated lactic acid. The slow replenishment stage of recovery begins as soon as lactic acid appears in the muscle cell, and will continue using breathed oxygen until recovery is complete. This can take up to 5–6 litres of oxygen in the first half hour of recovery, removing up to 50 per cent of the lactic acid.
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Figure 10 Blood lactate removal for different intensities of exercise
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ACTIVITY


Can you put the following labels in the correct position?





•  Oxygen consumption during exercise



•  Oxygen deficit



•  Fast replenishment stage



•  Slow replenishment stage
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Maintenance of breathing and heart rates


Maintaining breathing and heart rates requires extra oxygen to provide the energy needed for the respiratory and heart muscles. This assists recovery as the extra oxygen is used to replenish ATP and phosphocreatine stores, re-saturate the myoglobin and remove lactic acid, therefore returning the body back to its pre-exercise state.


Glycogen replenishment


Glycogen is the main energy provider and, as it is the fuel for both the aerobic system and anaerobic glycolytic system, it will be depleted during exercise. The replacement of glycogen stores depends on the type of exercise undertaken and when and how much carbohydrate is consumed following exercise. It may take several days to complete the restoration of glycogen after a marathon, but in less than an hour after high duration, short intensity exercise, a significant amount of glycogen can be restored as lactic acid and is converted back to blood glucose and glycogen in the liver via the Cori cycle. Eating a high carbohydrate meal will accelerate glycogen restoration, as will eating within one hour following exercise.


There are two nutritional windows for optimal recovery after exercise. The first is 30 minutes after exercise where both carbohydrates and proteins should be consumed in a 3:1 or 4:1 ratio. The combination of carbohydrates and protein helps the body to re-synthesise muscle glycogen much more efficiently than just consuming carbohydrates on their own. Many elite athletes drink chocolate milkshake after exercise. The second nutritional window is 1–3 hours after exercise and a meal high in protein, carbohydrate and healthy fat should be consumed.


Increase in body temperature


When temperature remains high, respiratory rates will also remain high and this will help the performer take in more oxygen during recovery. However, extra oxygen (from the slow component of EPOC) is needed to fuel this increase in temperature until the body returns to normal.
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STUDY HINT


Questions on EPOC often involve a description of the fast and slow replenishments.
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ACTIVITY


Copy the following diagram and see if you can summarise the functions of the fast and slow components of EPOC:
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EPOC


Fast component:


•


•


Slow component:


•


•


•
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CHECK YOUR UNDERSTANDING


At the end of an 800 m swim, the swimmer will be out of breath and will continue to breathe heavily even though they have come to a complete rest. Explain why this breathlessness occurs.
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Energy transfer during short duration/high intensity exercise


During short duration/high intensity exercise, energy has to be produced rapidly. The aerobic system is too complicated to produce energy rapidly so the body needs to rely on anaerobic respiration, using the ATP–PC system and the anaerobic glycolytic system. However, these systems cannot produce energy for long periods of time. As we have already discussed, the ATP–PC system can only produce energy for high intensity activities lasting up to 10 seconds. The anaerobic glycolytic energy system can last for longer (up to 3 minutes) but it depends on what intensity the performer is working at for how long it lasts. Think of a 400-metre runner – they will complete their event in 45–60 seconds using mainly the anaerobic glycolytic system. At the end of their race, they will be exhausted because of the build-up of lactic acid and certainly unable to run another race without a long period of recovery. Compare this with an 800-metre runner – they will not be running as fast, but will still be mainly using their anaerobic glycolytic energy system, but because the demand for energy is less, they can run using that system for longer.



Lactate accumulation


Lactate and lactic acid are not the same thing but the terms are often used interchangeably. Using the anaerobic glycolytic system produces the by-product lactic acid as a result of glycolysis. The higher the intensity of exercise, the more lactic acid is produced. This lactic acid quickly breaks down, releasing hydrogen ions (H+). The remaining compound then combines with sodium ions (Na+) or potassium ions (K+) to form the salt lactate. As lactate accumulates in the muscles, more hydrogen ions are present and it is actually the presence of hydrogen ions that increases acidity. This slows down enzyme activity which affects the breakdown of glycogen causing muscle fatigue. The lactate produced in the muscles diffuses into the blood and blood lactate can be measured.
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STUDY HINT


Lactic acid or lactate?


Lactic acid is C3H6O3. When lactic acid releases H+, the remaining bit of the acid joins with Na+ to form a salt – lactate. These terms are often used interchangeably because glycolysis produces lactic acid which immediately dissociates and lactate is formed.
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The lactate threshold and onset blood lactate accumulation (OBLA)


As exercise intensity increases, the body moves from working aerobically to anaerobically. This crossing of the aerobic/anaerobic threshold is also known as the lactate threshold and is the point at which lactic acid rapidly accumulates in the blood (increase by 2 millimoles per litre of blood above resting levels). We are constantly producing small amounts of lactate due to red blood cell activity when working at low intensity but the levels are low and the body deals with these effectively. However, as the intensity of the exercise increases and the body is unable to produce enough oxygen to break down lactate, the levels of lactate build up/accumulate and this is known as OBLA (onset blood lactate accumulation).
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KEY TERMS


Lactate threshold: The point during exercise at which lactic acid quickly accumulates in the blood.


OBLA: The point when lactate levels go above 4 millimoles per litre.
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OBLA and lactate threshold are simply different ways of measuring the same thing. OBLA is the older term and lactate threshold is a more recent American term. At rest, approximately 1–2 millimoles per litre of lactate can be found in the blood. However, during intense exercise, levels of lactate will rise dramatically and as it starts to accumulate, OBLA occurs. This is usually when the concentration of lactate is around 4mmol per litre. Measuring OBLA gives an indication of endurance capacity. Some individuals can work at higher levels of intensity than others before OBLA and can delay when the threshold occurs.


Lactate threshold is expressed as a percentage of VO2 max. As fitness increases, the lactate threshold becomes delayed. Average performers may have a lactate threshold that is 50–60 per cent of their VO2 max, whereas elite performers may have a lactate threshold that is 70, 80 or even 90 per cent of their VO2 max. Training has a limited effect on VO2 max because VO2 max is largely genetically determined. The big difference in performance comes from the delayed lactate threshold. When we exercise we tend to work at or just below our lactate threshold – in other words, at a level where fatigue (caused by lactate) is not going to cause our performance to deteriorate. The fitter we are, the higher our lactate threshold as a percentage of our VO2 max and hence the harder we can work.
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ACTIVITY


The graphs show changes in oxygen uptake (VO2) and lactate levels of an average performer and an elite performer. There are noticeable differences between the two graphs. Can you find them and explain why?
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Figure 11a Changes in oxygen uptake (VO2) and lactate levels of an average performer
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Figure 11b Changes in oxygen uptake (VO2) and lactate levels of an elite performer
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The multi-stage fitness test is a good practical example to illustrate OBLA. As the test becomes more and more demanding because of the reduced time to complete each shuttle, the performer eventually reaches a point where energy cannot be provided aerobically. This means the performer has to use the anaerobic systems to re-synthesise ATP. Levels of lactate produced in the muscles increase until eventually muscle fatigue occurs and the performer slows down or is no longer able to keep up with the bleep.




[image: ]


CHECK YOUR UNDERSTANDING


As part of their training programme, an elite 400 m runner uses interval training. The table below shows their time for six 400 m sprints, where each sprint was followed by a 60-second recovery period:
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During this training session, the athlete would have reached their lactate threshold. What do you understand by the term lactate threshold and how would the majority of the athlete’s energy be supplied during the periods of activity?


[image: ]





Factors affecting the rate of lactate accumulation


Exercise intensity


The higher the exercise intensity, the greater the demand for energy (ATP) and the faster OBLA occurs. Fast twitch fibres are used for high intensity exercise and can only maintain their workload with the use of glycogen as a fuel. When glycogen is broken down in the absence of oxygen into pyruvic acid, lactic acid is formed.



Muscle fibre type


Slow twitch fibres produce less lactate than fast twitch fibres. When slow twitch fibres use glycogen as a fuel, due to the presence of oxygen, the glycogen can be broken down much more effectively and with little lactate production.


Rate of blood lactate removal


If the rate of lactate removal is equivalent to the rate of lactate production, then the concentration of blood lactate remains constant. If lactate production increases, then lactate will start to accumulate in the blood until OBLA is reached. (How lactate is removed will be discussed later in this chapter.)


The respiratory exchange ratio


This is described in more detail later on in this chapter. It is the ratio of carbon dioxide produced compared to oxygen consumed. As this ratio has a value close to 1:0, glycogen becomes the preferred fuel and there is a greater chance of the accumulation of lactate.


Fitness of the performer


A person who trains regularly will be in a better position to delay OBLA as adaptations occur to trained muscles. Increased numbers of mitochondria and myoglobin, together with an increase in capillary density, improve the capacity for aerobic respiration and therefore avoid the use of the lactate anaerobic system.


Lactate-producing capacity and sprint/power performance


Elite sprinters and power athletes will have a much better anaerobic endurance than non-elite sprinters. This is because their body has adapted to cope with higher levels of lactate. In addition, through a process called buffering, they will be able to increase the rate of lactate removal and consequently have lower lactate levels. Buffering works rather like a sponge mopping up water but instead the sponge soaks up the lactate. This means the athletes will be able to work at higher intensities for longer before fatigue sets in. As well as being able to tolerate higher levels of lactate, the trained status of their working muscles will lead to adaptive responses. There will be a greater number and size of mitochondria and the associated oxidative enzymes, increased capillary density and more myoglobin.
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KEY TERM


Buffering: A process which aids the removal of lactate and maintains acidity levels in the blood and muscle.
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Factors affecting VO2 max/aerobic power


VO2 max is the maximum volume of oxygen that can be taken up and used by the muscles per minute. An individual’s VO2 max will determine endurance performance in sport. Average VO2 max for an A-level student is around 45–55 ml/kg/min for males and 35–44 ml/kg/min for females. Three-time Tour de France winner Greg LeMond has a VO2 max of 92.5 ml/kg/min. This means he has more oxygen going to the muscles and can utilise this oxygen to provide energy to enable a high rate of exercise. One of the reasons why this is possible is that his body has adapted as a result of his training to take up and use more oxygen. These are physiological factors that have increased his VO2 max but there also other more general factors that can affect VO2 max.
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CHECK YOUR UNDERSTANDING


State and explain three structural/physiological characteristics that can lead to an improvement in VO2 max.
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Figure 12 Factors affecting VO2 max
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Factors affecting VO2 max


Physiological




•  Increased maximum cardiac output


•  Increased stroke volume/ejection fraction/cardiac hypertrophy


•  Greater heart rate range


•  Less oxygen being used for heart muscle so more available to muscles


•  Increased levels of haemoglobin and red blood cell count


•  Increased stores of glycogen and triglycerides


•  Increased myoglobin content


•  Increased capillarisation around the muscles


•  Increased number and size of mitochondria


•  Increased surface area of alveoli


•  Increased lactate tolerance





Lifestyle: Smoking, sedentary lifestyle, poor diet and poor fitness can all reduce VO2 max values


Body composition: A higher percentage of body fat decreases VO2 max


Training: VO2 max can be improved by up to 10–20 per cent following a period of aerobic training (continuous, fartlek and aerobic interval)


Genetics: Inherited factors of physiology limit possible improvement


Gender: Men generally have approx. 20 per cent higher VO2 max than women


Differences in age: As we get older our VO2 max declines as our body systems become less efficient
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Measurements of energy expenditure


Measuring how much energy an athlete uses gives an indication of the intensity of the exercise that is being performed and can be used to identify levels of fitness. It will highlight the dietary requirements needed for the performer to recover and replace the energy they have used, as well as providing feedback on the effectiveness of a training programme. The following measurements are all used by elite performers to gauge energy expenditure.


Indirect calorimetry


Indirect calorimetry is discussed in Chapter 6.8 The role of technology in physical activity and sport, but the emphasis is on testing and recording. You also need to know how indirect calorimetry works as a method of measuring energy expenditure. It is a technique that provides an accurate estimate of energy expenditure through gas exchange. It measures how much carbon dioxide is produced and how much oxygen is consumed at both rest and during aerobic exercise. Calculating the gas volumes also enables us to find out the main substrate being used (fat or carbohydrate). The accuracy of this test is very reliable as it gives a precise calculation of VO2 (oxygen consumption) and VO2 max.
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KEY TERMS


Calorimetry: The calculation of heat in physical changes and chemical reactions.


Indirect calorimetry: Measures the production of CO2 and/or the consumption of O2.
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Figure 13 Indirect calorimetry





Lactate sampling


Blood lactate measurements are used amongst elite performers in sports such as running, swimming and rowing to monitor training and predict performance. Lactate sampling involves taking a tiny blood sample and a handheld device analyses the blood and indicates how much lactate is present. This is an accurate and objective measure of the level of lactate in the blood. It can also be used as a means of measuring exercise intensity. The higher the exercise intensity at which the lactate threshold occurs, the fitter the athlete is considered to be. Lactate testing can give an idea of level of fitness. It will allow the performer to select relevant training zones, whether they are expressed in terms of heart rate (beats per minute) or power (watts), in order to get the desired training effect. Regular lactate testing provides a comparison from which the coach and performer can see whether improvement has occurred. If test results show a lower lactate level at the same intensity of exercise, this should indicate that the performer has an increase in peak speed/power, increased time to exhaustion, improved recovery heart rate and finally a higher lactate threshold.
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Figure 14 Measuring blood lactate levels






VO2 max test


There are many tests that can evaluate VO2 max and you probably tried a few when you studied for your PE GCSE. The most common one is the multi-stage fitness test or more commonly called the ‘bleep’ test. Here the individual performs a 20-metre progressive shuttle run to a bleep, until they reach complete exhaustion. The level that is reached can be compared with a standard results table. Other tests include the Harvard step test and Cooper’s 12-minute run, but all of these only give an indication or prediction of VO2 max. A sports science laboratory can produce much more valid and reliable results using direct gas analysis.
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KEY TERMS


Direct gas analysis: Measures the concentration of oxygen that is inspired and the concentration of carbon dioxide that is expired.


Cycle ergometer: A stationary bike that measures how much work is being performed.
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Tests using this method involve increasing intensities on a treadmill, cycle ergometer or rowing machine. Tests on a treadmill are accurate methods carried out under laboratory conditions. An individual runs on a treadmill to exhaustion while the air that is expired is calculated by computer software. The volume and concentration of oxygen in the expired air is then measured and compared with the percentage of oxygen that is in atmospheric air to see how much oxygen has been used during the task.
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Figure 15 A treadmill test





Respiratory exchange ratio (RER)


The respiratory exchange ratio (RER) is the ratio of carbon dioxide produced compared to oxygen consumed and is used as a measure of exercise intensity. It provides information about fuel usage during exercise. Energy sources such as carbohydrates, fat and protein can all be oxidised to produce energy. For a certain volume of oxygen, the energy released will depend upon the energy source. Calculating the respiratory exchange ratio (RER) will determine which of these energy sources is being oxidised and hence whether the performer is working aerobically or anaerobically. The RER ratio is calculated using the following equation:
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•  A RER value close to 1 = performer using carbohydrates



•  A RER value of approx. 0.7 = performer using fats



•  A RER value greater than 1 = anaerobic respiration so more CO2 being produced than O2 consumed
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KEY TERM


The respiratory exchange ratio (RER): The ratio of carbon dioxide produced compared to oxygen consumed.
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Here is a table to show the percentage of fats and carbohydrates used from the RER:






	Ratio

	Percentage fat






	0.70

	100







	0.75

	  83







	0.80

	  67







	0.85

	  50







	0.90

	  33







	0.95

	  17







	1.00

	    0








Measuring the respiratory exchange ratio requires an athlete to be attached to a gas analyser while on a treadmill or cycle ergometer so that accurate readings can be taken on the amount of carbon dioxide produced compared to oxygen consumed.
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CHECK YOUR UNDERSTANDING


The results from the respiratory exchange ratio (RER) can be used to check that training is effective. Can you explain the term respiratory exchange ratio?
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Impact of specialist training methods on energy systems


Altitude training


At both sea level and altitude the percentage of oxygen within air remains the same. However, the partial pressure of O2 drops as altitude increases, usually by up to 50 per cent at an altitude of 5000 m. Therefore there is a reduction in the diffusion gradient of oxygen between the air and the lungs and between the alveoli and blood. This means that not as much oxygen diffuses into the blood so haemoglobin is not as fully saturated with oxygen, which results in the lower O2 carrying capacity of the blood. As less O2 is therefore delivered to the working muscles, there is a reduction in aerobic performance and VO2 max and a quicker onset of anaerobic respiration.
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KEY TERM


Altitude training: Usually done at 2500 m+ above sea level where the partial pressure of oxygen is lower.
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However, elite endurance athletes choose to train at altitude (preferably over 2500 m above sea level) for several weeks as there are lots of benefits to performance. Altitude training is also done to acclimatise players to the lower level of oxygen available in the atmosphere. The England squad flew out to Austria in May 2010 to train at two altitude camps before they headed to South Africa for the World Cup even though two of their opening three Group C matches were played at sea level.


However, altitude training does have its disadvantages. When the athlete first experiences altitude, it is very difficult to train at the same intensity due to the reduction in the partial pressure of oxygen so there can be a loss of fitness or detraining. In addition altitude sickness is a possibility, which can have a detrimental effect on a training programme. The benefits gained from altitude training can be lost very quickly on return to sea level and the body can only produce a limited amount of EPO. Living away from home can also result in psychological problems such as homesickness.
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Figure 16 Altitude training






High intensity interval training (HIIT)


Interval training can be used for both aerobic and anaerobic training. It is a form of training in which periods of work are interspersed with recovery periods. Four main variables are used to ensure the training is specific:





•  The duration of the work interval.



•  The intensity or speed of the work interval.



•  The duration of the recovery interval.



•  The number of work intervals and recovery intervals.





High intensity interval training (HIIT) involves short intervals of maximum intensity exercise followed by a recovery interval of low to moderate intensity exercise, for example 4 minutes of intense exercise made up of 8 × 20 seconds maximum effort work intervals, each followed by a 10-second recovery interval. The work interval is anaerobic and the recovery aerobic. Pushing your body to the max during the work interval increases the amount of calories you burn as it takes longer to recover from each work session. HIIT therefore improves fat burning potential, glucose metabolism and both aerobic and anaerobic endurance. There are many variations of HIIT that involve:





•  different numbers of high intensity work intervals and low intensity recovery intervals



•  different lengths of time for the work and recovery intervals



•  different exercise intensity for the recovery interval (low or medium intensity).





Plyometrics


If a greater anaerobic capacity is crucial to successful performance, for example, speed for the 100 m and power for the long jump or rebounding in basketball, then plyometrics is one method of strength training that improves these fitness components. Plyometrics training involves high intensity explosive activities such as hopping, bounding, depth jumping and medicine ball work and uses fast twitch fibres. It works on the concept that muscles can generate more force if they have previously been stretched. Think of an elastic band – the more it can be stretched, the greater the force that follows. So, if an eccentric contraction occurs first (which stretches the muscle) followed by a concentric contraction, the force generated can be increased dramatically. This is frequently called the stretch shortening cycle and consists of three phases:





•  Eccentric phase or pre-loading/pre-stretching phase. On landing, the muscle performs an eccentric contraction where it lengthens under tension.



•  Amortisation phase is next and is the time between the eccentric and concentric muscle contractions. This time needs to be as short as possible so the energy stored from the eccentric contraction is not lost. When an eccentric contraction occurs, a lot of the energy required to stretch or lengthen the muscle is lost as heat but some of the energy can be stored and is then available for the subsequent concentric contraction.



•  Concentric or muscle contraction phase uses the stored energy to increase the force of the contraction.
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KEY TERM


Plyometrics: Involves repeated rapid stretching and contracting of muscles to increase muscle power.
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Figure 17 Plyometric training





Memory tools


Remember PAM for the three phases: P for pre-loading/or pre-stretching, A for amortisation and M for muscle contraction!


An example of plyometric exercises to develop leg strength involves a line of benches, boxes and hurdles where the performer has to jump, hop and leap from one to the other. Recovery occurs as you walk back to the start line and repeat the exercise.


To develop arm strength, press-ups could be performed with mid-air claps or through throwing and catching a medicine ball. In these exercises, the triceps muscle experiences a quick stretch on the landing for the press-up and on catching the heavy medicine ball. This is followed by a concentric muscle action as the triceps extends the arms in the upward phase of the press-up or the execution of the throw.


Speed, agility, quickness (SAQ)


Speed refers to how fast a person can move over a specified distance or how quickly a body part can be put into motion. It is important in all sports but even more effective in games when combined with agility, which is the ability to move and position the body quickly and effectively while under control. Good agility requires a combination of speed, co-ordination, balance and flexibility. These are all important fitness components for a games player and can be developed through SAQ training. This is a type of training that aims to improve multi-directional movement through developing the neuromuscular system. Drills include zig zag runs and foot ladders and often a ball is introduced so passing occurs throughout the drill, making it more sport-specific. As SAQ training uses activities performed with maximum force at high speed, energy is provided anaerobically.
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Figure 18 Arm plyometrics
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Figure 19 SAQ training
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SUMMARY


In this chapter you have studied lots of different topics. You need to be able to link specialist training methods with energy systems and look at the impact these training methods have on energy production and recovery. Make sure you can explain how each of the three energy systems produces energy and identify when they are used. Ensure you understand energy transfer during long duration/lower intensity exercise and short duration/high intensity exercise. A knowledge of the recovery process (EPOC) is essential and you need to be aware of the importance of oxygen consumption, both during exercise and then recovery. You also need to learn measurements of energy expenditure as they provide the athlete with information on how hard they are working and which energy system is producing the energy.
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PRACTICE QUESTIONS





1  Elite athletes may use the results from lactate sampling to ensure that their training is effective. Explain the term lactate sampling.


(2 marks)



2  Wayde Van Niekerk holds the world record for the 400 m with a time of 43.03 seconds. Explain how the majority of energy was provided during the race.


(4 marks)



3  At the end of a team game, players may experience EPOC. Define EPOC and give the functions of the fast component of EPOC and explain how these functions are achieved.


(4 marks)



4  Explain the factors that can affect lactate threshold.


(3 marks)



5  Elite athletes spend considerable time developing their fitness, using a variety of methods, in order to produce peak performance.







    a) Explain why some athletes, such as marathon runners, may choose to spend time training at altitude.


(3 marks)


    b) What are the potential problems associated with altitude training?


(3 marks)








6  The triathlon is an athletic event that involves performers undertaking a long distance swim, immediately followed by a cycle race and then finally a run of several kilometres. Name the main energy system being used throughout the race and explain how this system provides energy for the working muscles. At the end of the race, the triathlete will be out of breath and will continue to breathe heavily even though they have come to a complete rest. Explain why this breathlessness occurs.


(15 marks)
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Chapter 2.1 Information processing
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Chapter objectives


In the chapter on skill characteristics in Book 1 (Chapter 2.1), it was suggested that skill has a cognitive (thinking) aspect and a motor (moving) aspect. This chapter looks at those two parts in much more detail, looking at the processes by which information is first collected from the environment, interpreted and then acted upon.


After reading this chapter you should be able to:





•  Understand how sports performers use information from the environment to facilitate movement by using various senses to collect information such as hearing, vision, touch, balance and kinesthesis.



•  Explain how sporting information is stored and used in the memory by looking at memory models and how these can be interpreted.



•  Understand the influences that determine how decisions are made when information is collected by the senses and how this is responded to by a study of Whiting’s information processing model.



•  Look at what happens after decisions are made when sports performers react to stimuli and to assess the factors that can affect those reactions, including the psychological concepts of Hick’s law, the psychological refractory period and the single channel hypothesis.



•  Assess how a sports performer might adapt information to help control movement by using a schema.
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Information processing and memory


In sporting situations, a good player will often take a look at their surroundings before they attempt to utilise some of the skills you have discussed in Book 1, Chapter 2.1. You may often witness the team playmaker such as the fly half in rugby or the netball centre take a quick look at the position of the defenders before they receive the ball in order to decide the best option available to them. This process of taking account of the sporting environment and then making decisions prior to the execution of a skill is referred to as information processing.
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Figure 1 When playing netball the player in possession has to make decisions!





Initially, information processing can be divided into three parts: input, decision making and output. Each part follows the other in a specific order. These sequential parts are shown below, indicating the processes as a flow chart.


Input → Decision making → Output


Input


The first process is the input stage. During this initial stage, the performer uses the senses to pick up information from the sporting environment. The sporting environment can be called the display and while the sporting display does include aspects such as the condition of the pitch, it also refers to sports-specific items such as the opposition, the court, the crowd, the ball, the officials and of course your team mates! There are quite a lot of things to think about in a split second before receiving a ball, a consideration that will become important later.
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KEY TERMS


Information processing: The methods by which data from the environment are collected and utilised.


Input stage: Information picked up by the senses.


Display: The sporting environment.
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Figure 2 The display is everything in the sporting environment that can be processed by the performer
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ACTIVITY


Think of a sporting arena such as the one pictured. Make a list of the items of information that are available from this environment when you play sport.
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Senses


Information is picked up from the display using the senses and there are five senses that are very important in sport. These senses used to collect information are collectively known as the receptor systems:





•  Sight (or vision)



•  Auditory sense (hearing)



•  Touch



•  Balance



•  Kinesthesis.
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KEY TERM


Receptor systems: The senses that pick up information from the display.
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The first sense used in sport is sight or vision. The performer can pick up the flight of the ball or the position of an opponent using their sight. Picking up such information early can be useful and may mean that the information on the flight of the ball is processed quickly, allowing the performer a fraction of a second more to make their decision. That split second advantage can make the difference at the top level.


The second of the senses used in sport is the auditory sense, otherwise known as hearing. A player may hear the call of a team mate or the sound of the referee’s whistle, for example. A cricketer may hear the sound of the ball catching the edge of the bat before attempting to make a catch.


These two senses, hearing and sight, can be classed as external senses as information is collected from the environment. There are more senses used in sport that can be classed as internal since they are used from within. The internal senses are collectively called the proprioceptors. These senses provide intrinsic information about touch, balance and kinesthesis.
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KEY TERMS


Proprioceptors: The senses that provide internal information from within the body.


Kinesthesis: The inner sense that gives information about body position and muscular tension.
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The sense of touch is important in sport and can be used to feel for the grip on the ball or the feel of the springboard used by a diver through the feet. The sense of balance is also important in sport. The basketball player who must set their feet before taking a free throw needs to be balanced to ensure the accuracy of the shot. A more obvious example is the gymnast who needs an acute sense of balance when competing on the beam or during a floor routine.


The gymnast referred to in the above example may also make use of another sense that details important information about the position and orientation of the body. This sense is called kinesthesis and it is a sense from within the performer, using sensors within the muscle receptors that relay information about muscle tension and therefore body position. The swimmer will use the sense of kinesthesis to help them be aware of body position during a tumble turn. The sense of kinesthesis is sometimes unnoticed by the performer but its use is important and can be relied upon as skills are practised and developed.
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Figure 3 The gymnast uses the sense of balance when competing on the beam
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STUDY HINT


Two of the five senses are external: sight and hearing. The other three are internal, known as the proprioceptors; they are; touch, equilibrium (balance) and kinesthesis.
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Figure 4 Senses used in sport
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Senses used in sport:


External


Internal


Sight


Hearing


Touch


Balance


Kinesthesis
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ACTIVITY


Give examples from a sport of your choice of the senses you would use and the items of information you would pick up as you performed or played that sport. Look at the items from the previous activity to help you.
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Decision making


The second stage of information processing is the decision-making stage. At this point the performer must make a decision based on all the information collected by the senses. In order to make such decisions, the process of selective attention and the use of the memory system are really important at this stage.


The difficulty in this part of the process lies in the fact that the performer can receive a host of information from the five senses and yet needs to make their decision based only on the important aspects of that information. Perception might be used to determine not just the attackers who are free to receive a pass, but to identify the attacker who is most likely to get the ball. The ball and the position of opponents in a game might be information that is vital but the crowd might be something that the performer wishes to ignore. Significantly, there is a process that helps the sports performer to separate the relevant information from the irrelevant information. This process is called selective attention.

OEBPS/OEBPS/images/17-1.jpg





OEBPS/OEBPS/images/17-2.jpg





OEBPS/OEBPS/images/18-1.jpg





OEBPS/OEBPS/images/19-1.jpg





OEBPS/OEBPS/images/18-2.gif
RER = oo dioxide expired per minute (VCO,)

Oxygen consumed per minute (VO5)





OEBPS/OEBPS/images/cover.jpg
D
\ X m\\

¥ » ]

-

A-level

'érton
= Tjmond Burous
Ross Howitt
/ Sue Young

Editor: Mike Murray

Y- o





OEBPS/OEBPS/images/7-3.gif
Lactic acid

ATP-PC






OEBPS/OEBPS/images/9-1.gif
(a) Light exercise (b) Heavy exercise
N A

‘Rapid" portion
of debt

0, deficit
Steady state VO,

“Rapid" portion s 0, debt
—> of debt B or EPOC
0, debt or EPOC Sow,
ortion
= Faypen ofdebt
Resting VO, Cilcett Resting VO,

Exercise time Recovery Exercise time Recovery





OEBPS/OEBPS/images/14-1.gif
Oxygen uptake (ml/kg/min)

50
40
30
20
10

Changes in VO, and lactate levels during

exercise

Rest  Walk
e VO,max

Jog Run  Sprint
— @ Llactate levels





OEBPS/OEBPS/images/7-2.gif
NAME OF GAME

ATP-PC
SYSTEM

ANAEROBIC
GLYCOLYTIC SYSTEM

AEROBIC
SYSTEM






OEBPS/OEBPS/images/rules.jpg





OEBPS/OEBPS/images/14-2.gif
L
g8 8 3

Oxygen uptake (ml/kg/min)
s 8 8 8

o

Changes in VO, and lactate levels
during exercise

Rest Walk

 m VO,max

Jog Run  Sprint

e el





OEBPS/OEBPS/images/7-1.gif
T T T 7T

VO] et v ) e £ [P e





OEBPS/OEBPS/images/14-3.gif
run run run run run run

| 524s | 528s | 531s | 534s | 536s | 542s |

First Second | Third Fourth Fifth Sixth ‘






OEBPS/OEBPS/images/16-1.gif
Physiological
o Increased maximum cardiac output

« Increased stroke volume/ejection fraction/cardiac hypertrophy

« Greater heart rate range

o Less oxygen being used for heart muscle so more available to muscles
« Increased levels of haemoglobin and red blood cell count

« Increased stores of glycogen and triglycerides

« Increased myoglobin content

« Increased capillarisation around the muscles

« Increased number and size of mitochondria

o Increased surface area of alveoli

« Increased lactate tolerance

Lifestyle: Smoking,
sedentary lifestyle,
poor diet and poor
fitness can all reduce
VO, max values

Training: VO, max
can be improved by up
10 10-20 per cent
following a period of
aerobic training
(continuous, fartlek

and aerobic interval)

Body composition:
higher percentage of
body fat decreases
VO, max

A
Genetics: Inherited
factors of physiology
limit possible

improvement

Factors affecting VO, max

N

Gender: Men Differences in age: As we
generally have approx. | | get older our VO, max
20 per cent higher declines as our body systems

VO, max than women | | become less efficient






OEBPS/OEBPS/images/6-1.gif
S VY =TV O0A=~oW0n

Musclefliver glycogen

Glycogen

phosphorylase

Glucose

) Phospho-
Glycolysis =——> ﬁ fructokinase >

Pyruvic acid

[E——

Lactate

2 ATP

Lactic acid|

dehydrogenase






OEBPS/OEBPS/images/10-1.gif
100
90
80
70

60
50
40

% of PC replenished

30
20
104

30 60 90 120 150 180
Recovery time (seconds)





OEBPS/OEBPS/images/2-3.gif
ATP-ase

ADP P +energy





OEBPS/OEBPS/images/3-2.gif
~ 0 5

Acetyl-coenzyme-A

Oxaloacetic acid
Carbon
dioxide

formed 2 ATP

Citric acid

Hydrogen removed





OEBPS/OEBPS/images/4-1.gif
Sarcoplasm

Mitochondria

Glycogen
Phosphofructokinase
e v

Glucose

Glycolysis

energy
y —= 24P

Pynwicacd —= Nooggen —=

\
Acetyl-coenzyme-A

v
Hydrogen

Orygen —» )

energy
Water <— — 34 ATP

)

Electron transport chain

Oxaloacetic acid

Carbon dioxide
Citric acid

energy
— 2ATP

Lactic acic





OEBPS/OEBPS/images/11-1.gif
Blood lactate concentration

(mmol/l)

o

=

Heavy exercise
— Light exercise
(35% VO, max)

10 20 30 40
Recovery time (mins)





OEBPS/OEBPS/images/2-2.gif





OEBPS/OEBPS/images/3-1.gif





OEBPS/OEBPS/images/11-2.gif
Exercise 0 4 8 12 16
Rest|  period )L Recovery period (min)

le






OEBPS/OEBPS/images/12-1.gif
EPOC

Fast component:

Slow component:






OEBPS/OEBPS/images/2-1.gif





OEBPS/OEBPS/images/tp.gif
Carl Atherton
Symond Burrows
Ross Howitt
Sue Young

Editor: Mike Murray

Approval message from AQA

The core content of this digital textbook has been approved by AQA for use with our qualification. This
means that we have checked that it broadly covers the specification and that we are satisfied with the
overall quality. We have also approved the printed version of this book. We do not however check or
approve any links or any functionality. Full details of our approval process can be found on our website.
We approve print and digital textbooks because we know how important it is for teachers and students
to have the right resources to support their teaching and learning. However, the publisher is ultimately
responsible for the editorial control and quality of this digital book.

Please note that when teaching the A@A PE course, you must refer to AQA's specification as your
definitive source of information. While this digital book has been written to match the specification, it
cannot provide complete coverage of every aspect of the course.

Awide range of other useful resources can be found on the relevant subject pages of our website:
www.aqa.org.uk.

. DYNAMIC
LEARNING

& HORRER

AN HACHETTE UK COMPANY






OEBPS/OEBPS/images/24-1.jpg





OEBPS/OEBPS/images/25-1.jpg





OEBPS/OEBPS/images/25-2.gif
Senses used in sport:

/o

External Internal

/N

Sight Hearing Touch Balance Kinesthesis





OEBPS/OEBPS/images/20-1.jpg





OEBPS/OEBPS/images/21-1.jpg





OEBPS/OEBPS/images/21-2.jpg





OEBPS/OEBPS/images/23-1.jpg





